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Choose the correct answer.
Each question carries 1 Mark.
1. Which of the following is the best example of human adaptation in cold region ?
(A) Bushman
(B) Toto
(C) Eskimo
(D) Gujjar
1. fsfefie Remefm S @b wifs Ares sweca N Sferees @» Snzgd —
(A) FT
(B) CBICE!
(C) «f=es
(D) wem

2. Which of the following is not a determinants of population growth ?
(A) Fertility
(B) Mortality
(C) Religion
(D) Migration

2. o i sl Wi aepral Jas @i e T —
(A) TR
(B) oI’
(C) «of Al wefipRe
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. Konkani is spoken in —

(A) West coast of Maharashtra and Karnataka
(B) East coast of India

(C) Kerala and Tamil Nadu

(D) All of these

L CrEe e @ m —

(A) TZRIEF € I 2f*ea TAPCe

(B) ORTSR o TAGT

(C) 0 =R OifNEag

(D) THAER A2 AT

. How many languages are recognized in the Indian Constitution ?

(A) 16

(B) 18

©) 15

(D) 17

. OiFeR MR (I Tl o wwefE TR

(A) sv

(B) ¥

(C) se

(D) >9

. As per 2011 census the density of population in West Bengal —
(A) 1030 persons/sq.km

(B) 1042 persons/sq.km

(C) 1003 persons/sq.km

(D) 1031 persons/sq.km

. 205 AER SITOR Geolell SPAICH ARGIAER Geiaerg  —
(A) so%o T fe Fof [N

(B) sosx & #fe 7 [l

(C) sooe T afe 3of [N

(D) So9s & &fe Jof [
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. Which of the following is an economic determinant of migration ?

(A) Social conflict

(B) Opportunity of employment
(C) Marriage

(D) All of these

. e Remaler st (@A ARietan sietafes fHefwe 2
(A) fes f[rer

(B) TASTAR ol

(C) farz

(D) TR RFH2 FF

. According to census of India a urban centre should have the minimum population —

(A) 50,000

(B) 6,000

(C) 5,000

(D) 4,000

. OO Gwsiell SR (census) G0 TNCIAF O GepRdl 263 AgAR —
(A) 0,000

(B) v,000

(C) &,000

(D) 8,000

. Wet point settlement is found in the area having following condition(s) —
(A) Flood prone area

(B) Forest area

(C) Coastal area

(D) Desert region

. fafeifee Remafer st @ Pre (@@ ew<eife (wet point settlement) G &l TG 2
(A) T A o]
(B) ey

(C) Toipeiia w1t

(D) = oeE
P.T.O.
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Which of the following is not a sub-branch of ‘Human Geography’ ?
(A) Political Geography
(B) Population Geography
(C) Social Geography
(D) Climatology
fsferiie Remalem Sy @@0 TR Grae-99 @36 Toi-olsl 77 2
(A) FrGCafo wraMe
(B) GePRAN glallet
(C) s grane
(D) w=wry fam

The most suitable socio-economic condition is found in the area having following population
resource relationship —

(A) Over population
(B) Under population
(C) Optimum population
(D) None of these

G € TR TR ARy, Arare Resslem st @w ovta sl Sig-aifes
JIFEs o Fa AW —

(A) Sfefe G

(B) SifolRae P12l

(C) BT SR

(D) THET @02 |

Which of the following countries is not a developing country ?
(A) Pakistan

(B) Norway

(C) Sri Lanka

(D) Burkina Faso

famfeifre omiafer Sy (@G Sraamier o wae
(A) AT

(B) e

(C) &=l

(D) FaREI FoT
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13.

13.

14.

14.
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The main economic function in a rural area is —
(A) Agriculture
(B) Household Industry
(C) Trade and Commerce
(D) Transport
2l1STel S1%eTeT (rural area) 2l WLCAfes Pt —
(A) FfE
®) fefew fim
(C) T @ 3ferey
(D) sife=ze
CBD stands for —
(A) Central Bureau District
(B) Central Banking Divison
(C) Central Business District
(D) None of these
& *@ ‘CBD’ F@I0e @RI —

(A) “OTEIE A [BfEg”

B) “orEE TiER ©Eg”

(C) “orgE e fefes”

(D) Tt @02 77|

Which of the following is not similar to of population density ?
(A) Arithmetic density

(B) Agricultural density

(C) Road density

(D) Economic density

fefere Renelr T (SRt Seered A G 772
(A) alifdfes g

(B) O qelg

(C) =2l Ty
(D) ST T
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World’s smallest populated country —
(A) Vatican city

(B) Ceylon

(C) Sumatra

(D) Sydney

AT Faew GePRAT IZT (™ —
(A) SiTFEHD

(B) GRRe

(C) et
(D) fref

(6)
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Paper Code : IV - B
(Marks : 35)

The figures in the margin indicate full marks.
Candidates are required to give their answers
in their own words as far as practicable.

Section - 1

Answer any fwo questions. 10x2=20

. Discuss about the content of human geography. Write down the factors affecting growth and

development of human habitat. 5+5

Define social geography. Shortly discuss about the characteristic features of urban settlement.
2+8

Make a note on man’s adoptation to environment with the special reference to ‘Bushman’. 10

Explain about the types of human settlement with the reference to topographical map of India

(SOI). 10
Section - IT
Answer any three questions. 5x3=15
What are the basic characteristic feature of Indian caste system ? 5
Give a short note on migration. 5
Shortly discuss the problems of population growth in India. 5
What are the measures of fertility ? 5
Write a short note on Indo-European Language. 5
Define optimum population and discuss its characterstics. 5
IAIM
(Marks : 35)
Section - I
@ (I 7D 2THF T WiE | $0X3=30

. AR GCANE-GF SAMI (S SCEAG I | NI GO € GaAGICas [ @

TR TR Ael] RBIRpI] Soiivle TeRafer FtF (14 | e+

SIS GUAteTd <Gl WG | AR, 9987 Swoifon bifdfass @afEE swtE =icennal
| b

ISR SRR ARCACH, NRE Bl 2IRER Sferetas R wwoid Bl @<

S0

SRS ‘Giesiianfres Mwbcag Eed (SOI) I T ePECSH F2{(F I Wie |
S0
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Section - 11

@ (I foafs s T wie | ExO=5¢

Tiely Tifeare 22l (caste system) @ I (IRl & e €
sAfRTe FACE ARG Bl (71| @

. IRCFCHA SO Qe e WPl I SCEhAl 9 | ¢
FIMHRIL A demeag ARveal & &2 @
FFBSAAT O AT 9F6 T (@74 | @

. I T AN DT T2 28T (ARl @1 @




